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Direction:
Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is
what the four judges are insinuating against the CJI. They have alleged that cases of national importance are
marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJI were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJI of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by
reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it hasraised dust and storm, it falls upon the ClI to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the CJI, all those who would like to see an independent

and fearless judiciary need to look into the matter.

The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJI cannot afford to remain quiet. The
matter is too serious to be brushed under the carpet. It is a perennial issue and will surface again and again.
Therefore, the CJI must speak out and do so loudly and clearly.

Question No.1

Why did the other judges possibly revolt against the CJl according to the passage?

Options:

1. They feel the Cll is quite dominating.

2. There is no word from him on the ongoing topic.
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3. The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of
assigning cases to colleague judges. The nature of the power vested in them is susceptible to misuse and
this precisely is what the four judges are insinuating against the CJI.

4. The CJI has seemingly deviated from this practice and as it has raised dust and storm, it falls upon the CJI
to clear the air as to why Justice Mishra was preferred over his seniors.

5. None of these.

Answer : The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of
assigning cases to colleague judges. The nature of the power vested in them is susceptible to misuse and this

precisely is what the four judges are insinuating against the CJI.

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is
what the four judges are insinuating against the CJI. They have alleged that cases of national importance are
marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJI were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJI of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by
reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it hasraised dust and storm, it falls upon the CJI to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the Cl, all those who would like to see an independent

and fearless judiciary need to look into the matter.

The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJI cannot afford to remain quiet. The

matter is too serious to be brushed under the car pet. It is a perennial issue and will surface again and again.
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Therefore, the CJI must speak out and do so loudly and clearly.

e Question No. 2
Why were all the judges who revolted, were upset with the CJI?
Options:

1. The CJI has preferred to maintain absolute silence.

2. They were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

3. The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough
ground to accuse the CJI of wrongdoing.

4. The matter is too serious to be brushed under the carpet.

5. None of the above.
Answer : They were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is
what the four judges are insinuating against the CJI. They have alleged that cases of national importance are
marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJI were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJI of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by
reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it hasraised dust and storm, it falls upon the CJI to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the CJI, all those who would like to see an independent

and fearless judiciary need to look into the matter.
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The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJI cannot afford to remain quiet. The
matter is too serious to be brushed under the carpet. It is a perennial issue and will surface again and again.

Therefore, the CJI must speak out and do so loudly and clearly.

Question No. 3
Which of the following statements is definitely true according to the passage?
Options:

1. The CJI has been given certain powers and he is fully allowed to use them in whichever way he wants.
2. The CJI should not be maintaining silence usually on such topics.

3. The assigning of powers has to be looked into very seriously.

4. A junior judge is as much a constitutional functionary as his senior colleague. Both discharge the same
judicial functions.

5. The cases relating to public importance are not compulsorily given to the high-profile judges.

Answer : A junior judge is as much a constitutional functionary as his senior colleague. Both discharge the same

judicial functions.

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is
what the four judges are insinuating against the CJI. They have alleged that cases of national importance are
marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJI were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJI of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by

reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
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perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it hasraised dust and storm, it falls upon the CJI to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the CJI, all those who would like to see an independent

and fearless judiciary need to look into the matter.

The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJI cannot afford to remain quiet. The
matter is too serious to be brushed under the carpet. It is a perennial issue and will surface again and again.

Therefore, the CJI must speak out and do so loudly and clearly.

Question No. 4
Choose the word which is most nearly the same in meaning to the word'prerogative’ as used in the passage.
Options:

1. duty
2. responsibility
3.right
4. title

5. concern
Answer : right

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is
what the four judges are insinuating against the CJI. They have alleged that cases of national importance are
marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJI were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.
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The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJI of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by
reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it has raised dust and storm, it falls upon the CJI to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the CJI, all those who would like to see an independent

and fearless judiciary need to look into the matter.

The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJI cannot afford to remain quiet. The
matter is too serious to be brushed under the carpet. It is a perennial issue and will surface again and again.

Therefore, the CJI must speak out and do so loudly and clearly.

Question No. 5
Choose the word which is most nearly the same in meaning to the word‘perennial’ as used in the passage.
Options:

1. occasional
2. permanent
3.interrupting
4. interfere

5. currently
Answer : permanent

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is

what the four judges are insinuating against the CJI. They have alleged that cases of national importance are
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marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJI were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJI of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by
reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it has raised dust and storm, it falls upon the CJI to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the ClJI, all those who would like to see an independent

and fearless judiciary need to look into the matter.

The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJI cannot afford to remain quiet. The
matter is too serious to be brushed under the carpet. It is a perennial issue and will surface again and again.

Therefore, the CJI must speak out and do so loudly and clearly.
Question No. 6
Choose the word which is the most opposite in meaning to the word‘insinuating’ as used in the passage.

Options:

1. propose
2. refer

3. signify
4. conceal

5. discuss
Answer : conceal

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.
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The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is
what the four judges are insinuating against the CJI. They have alleged that cases of national importance are
marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJlI were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJl of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by
reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it hasraised dust and storm, it falls upon the CJi to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the ClJI, all those who would like to see an independent

and fearless judiciary need to look into the matter.

The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJI cannot afford to remain quiet. The
matter is too serious to be brushed under the carpet. It is a perennial issue and will surface again and again.

Therefore, the CJI must speak out and do so loudly and clearly.

Question No. 7

Choose the word which is the most opposite in meaning to the word‘vested’ as used in the passage.
Options:

1. disapprove
2. entrusted
3. discover
4. disrupted

5. engaged

Answer : disapprove
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Direction:
Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is
what the four judges are insinuating against the CJI. They have alleged that cases of national importance are
marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJl were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJI of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by
reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it has raised dust and storm, it falls upon the CJI to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the ClJI, all those who would like to see an independent

and fearless judiciary need to look into the matter.

The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJl cannot afford to remain quiet. The
matter is too serious to be brushed under the carpet. It is a perennial issue and will surface again and again.

Therefore, the CJI must speak out and do so loudly and clearly.

Question No. 8

Which one of the following maybe a suitable meaning of the following phrase‘raised dust and storm’ as used in

the passage above ?
Options:

1. indulge seriously

2.create an idea
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3. create a disturbance
4. involve people

5. invoking a mob
Answer : create a disturbance

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is
what the four judges are insinuating against the CJI. They have alleged that cases of national importance are
marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJI were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJI of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by
reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it has raised dust and storm, it falls upon the CJI to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the ClJI, all those who would like to see an independent

and fearless judiciary need to look into the matter.

The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJI cannot afford to remain quiet. The
matter is too serious to be brushed under the carpet. It is a perennial issue and will surface again and again.

Therefore, the CJI must speak out and do so loudly and clearly.

Question No. 9

Which one of the following maybe a suitable meaning of the following phrase*brushed under the carpet’ as used

in the passage above.
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Options:

1. take interest in a problem
2. concentrate on the issues
3. take part in the discussion
4. avoid doing something

5. None of these
Answer : avoid doing something

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Chief Justice of India (CJI) and the chief justices of high courts enjoy absolute power in the matter of assigning
cases to colleague judges. The nature of the powervested in them is susceptible to misuse and this precisely is
what the four judges are insinuating against the CJl. They have alleged that cases of national importance are
marked to preferred judges to secure the desired results. It appears that the judges who have revolted against the

CJI were upset by the assignment of Judge B M Loya’s matter to Justice Arun Mishra, a junior judge.

The mere fact that Justice Mishra is a junior judge in the hierarchy of judges by itself is not a good enough ground
to accuse the CJI of wrongdoing, unless there is something more to this than meets the eye. A junior judge is as
much a constitutional functionary as his senior colleague. Both discharge the same judicial functions. Hence, by
reason of seniority alone, one cannot claim the prerogative to deal with a particular case more so because it is
perceived to be of public importance. Having said this, it appears that as a matter of practice and convention, the
cases of so-called public importance are generally referred to senior judges. Since the CJI has seemingly deviated
from this practice and as it has raised dust and storm, it falls upon the CJI to clear the air as to why Justice Mishra
was preferred over his seniors. Earlier also, as reported, in an equally sensational matter, this very judge was
preferred over his senior colleagues. Therefore, not only the Cl, all those who would like to see an independent

and fearless judiciary need to look into the matter.

The CJI has preferred to maintain absolute silence. There is no word from him. A former CJI had once said that in
certain matters silence is not an option. | believe this is one such case. The CJI cannot afford to remain quiet. The
matter is too serious to be brushed under the carpet. It is a perennial issue and will surface again and again.

Therefore, the CJI must speak out and do so loudly and clearly.
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e Question No.10
What is the tone of the passage according to you?
Options:

1. aggressive
2. suggestive
3. speculative
4. analytical

5. sympathetic
Answer : analytical

Direction:

In each question, there are three sentences. Each has a pair of wordsthat are italicised and highlighted. From the
italicised and highlighted words, select the most appropriate words (A or B) to form correct sentences. The
sentences ar e followed by optionsthat indicate the words, which may be selected to correctly complete the set of
sentences. From the options given, choose the most appropriate one.

e Question No. 1

The new Prime Minister will now have to build on hissuccessor’s (A) / predecessor’s (B) success and address his

failures.

The country was steered (A) / stere (B) out of the financial collapse.

The focus on quick fixes has pushed aside the real structural issues behind thecringe (A) / crisis (B).
Options:

1. AAB
2. AAA
3.BAB
4. ABA

5. ABB
Answer : BAB

Direction:
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In each question, there are three sentences. Each hasa pair of wordsthat areitalicised and highlighted. From the
italicised and highlighted words, select the most appropriate words (A or B) to form correct sentences. The
sentences ar e followed by optionsthat indicate the words, which may be selected to correctly complete the set of
sentences. From the options given, choose the most appropriate one.

Question No. 12
The new rules are supposed to enable farmers to sell their produce atremunerative (A) /remonstrative (B) prices.

The initial 20 points lead held by the presidential candidate when the election was announced haswithered (A) /

writhed (B) into a mere five points.
The only long-term solution is to gradually align (A) / alight (B) crop production with genuine price signals.
Options:

1. AAB
2. AAA
3.BAA
4. ABA

5. BBA
Answer : AAA

Direction:

In each question, there are three sentences. Each hasa pair of wordsthat areitalicised and highlighted. From the
italicised and highlighted words, select the most appropriate words (A or B) to form correct sentences. The
sentences ar e followed by optionsthat indicate the wor ds, which may be selected to correctly complete the set of
sentences. From the options given, choose the most appropriate one.

Question No. 13

The state of national politics may offer the Conservative leadership fewer reasons to feelgenuine (A) / sanguine

(B).

It brought a host of domestic policy issues on to the table for them todiligent (A) / dissect (B) and criticise.

The variations in poll projections (A) / propaganda (B) must be considered alongside the setbacks endured by the

polling industry.

Options:
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1. AAB
2.BBA
3.BAA
4. ABA

5. BBB
Answer : BBA

Direction:

In each question, there are three sentences. Each hasa pair of wordsthat areitalicised and highlighted. From the
italicised and highlighted words, select the most appropriate words (A or B) to form correct sentences. The
sentences ar e followed by optionsthat indicate the wor ds, which may be selected to correctly complete the set of
sentences. From the options given, choose the most appropriate one.

Question No. 14

Any prolonged (A) / impersonating (B) attempt to isolate the country would not only have economic consequences

but also complicate the fight against the terrorism yet more.

A suspension of diplomatic ties as well as air and sea travel to and from the country isunprecedented (A) /
precarious (B) .
With private investment remaining elusive (A) / abrasive (B), the States’ focus on bolstering capital expenditure in

sectors such as transport, irrigation and power is welcome
Options:

1. AAB
2. AAA
3.BAA
4. ABA

5. ABB
Answer : ABA

Direction:

In each question, there are three sentences. Each hasa pair of wordsthat areitalicised and highlighted. From the
italicised and highlighted words, select the most appropriate words (A or B) to form correct sentences. The
sentences ar e followed by optionsthat indicate the words, which may be selected to correctly complete the set of
sentences. From the options given, choose the most appropriate one.
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e Question No. 15
Tepid (A) / timid (B) economic growth hasn’t helped, and states have had to resort to higher market borrowings.
The Centre has been short-changing States by relying on speciallevies (A) / lien (B) such as surcharges and cesses.

The potential stress points are Pay Commission hikes and the boisterous (A) / bolster (B) clamour for ad hoc loan

waivers.
Options:

1. AAB
2. AAA
3.BAA
4. ABA

5.BAB
Answer : AAB

Direction:
Read each sentenceto find out whether thereisany error init. Theerror, if any, will bein one part of the sentence.
If thereisno error, mark the answer 5.

e Question No. 16

The Army too opposed the embankment, saying it will pose hurdles for their forward movements during military

operations.
Options:

1. The Army too opposed the embankment
2. saying it will pose hurdles for

3. their forward movements

4. during military operations

5. No error
Answer : saying it will pose hurdles for

Direction:



0D
ixam Pees @

Read each sentenceto find out whether thereisany error init. Theerror, if any, will bein one part of the sentence.
If thereisno error, mark the answer 5.

Question No. 17

Indore was one of the prominent musical centres in the 18thcentury with huge patronage by the Holkar Court

before being replaced from the Awadh Court in Lucknow.
Options:

1. Indore was one of the prominent musical centres

2.in the 18th century

3. with huge patronage by the Holkar Court before being replaced
4. from the Awadh Court in Lucknow

5. No error
Answer : from the Awadh Court in Lucknow

Direction:

Read each sentenceto find out whether thereisany error init. Theerror, if any, will bein one part of the sentence.
If thereisno error, mark the answer 5.

Question No. 18

Indore retained its prominence even in the Zoth Century due to its association with four prominent musicians linked

with the city.
Options:

1. Indore retained its prominence

2. even in the 20th Century due to

3.to its association with four prominent musicians
4. linked with the city

5. No error
Answer : No error

Direction:

Read each sentenceto find out whether thereisany error init. Theerror, if any, will bein one part of the sentence.
If thereisnoerror, mark the answer 5.
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e Question No.19
In the days before the advent of television, the radio brought the family together to listen news, music and drama.
Options:

1. In the days before

2. the advent of television

3. the radio brought the family together
4. to listen news, music and drama

5. No error
Answer : to listen news, music and drama

Direction:

Read each sentenceto find out whether thereisany error in it. Theerror, if any, will bein one part of the sentence.
If thereisno error, mark the answer 5.

e Question No. 20

Did you knew that the radio is ranked number two in the list of 101" Gadgets that changed the World’s according to

History Channel?
Options:

1. Did you knew that

2. he radio is ranked number two

3.in the list of 101" Gadgets

4. that changed the World’s according to History Channel

5. No error
Answer : Did you knew that

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Economic Survey for 2017-18 paints the picture of an economy that gives reason for both optimism and caution.

It projects that GDP growth could accelerate to 7-7.5% in 2018-19, from 6.75% in the current fiscal, reinstating India
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as the world’s fastest-growing major economy. According to Chief Economic Adviser Arvind Subramanian, the key
factors contributing to the positive prognosis are the reform measures: the July 1implementation of the Goods and
Services Tax and the steps taken to address the twin balance sheet problem in the banking sector. The latter
includes the push to use the Insolvency and Bankruptcy Code for debt resolution and the initiative to recapitalize
public sector banks. Adding to these domestic enablers are the fair winds of a global recovery that have already
lent a lift to overseas demand for India’s goods and services. But capitalizing on these favorable factors while
remaining vigilant to other macroeconomic threats, including a key risk in the form of persistently high oil prices,
would require exemplary economic stewardship. Among the concerns the CEA has flagged is one relating to what
the Survey calls “a classic emerging market ‘sudden stall’ induced by sharp corrections to elevated stock prices.”
With Indian stock indices continuing to soar to new highs on an almost daily basis, the Survey warns against “
sanguinenessabout its sustainability”. A correction in the stock market, besides triggering capital outflows, could
force policymakers to raise interest rates, choking off the nascent recovery.On the fiscal front, the survey contends
that the Centre needs to reappraise its priorities. The onus, it argues, has to be squarely placed on establishing and
maintaining policy credibility. To this end, it argues against “setting overly ambitious targets for consolidation,
especially in a pre-election year” that are based on optimistic and unrealistic assumptions. Instead, it recommends a
“modest consolidation” that would signal a return to the path of calibrated deficit reductions. In doing so, it appears
that the Survey is signaling that the government may have to retain the elbow room to stabilize the GST, complete
the recapitalization exercise and, most crucially, support agriculture. Devoting an entire chapter to ‘Climate, Climate
Change and Agriculture’, the CEA and his team have stressed on the dangers climate change poses to the outlook
for farm growth. With the potential to reduce annual agricultural incomes — by as much as 20-25% for unirrigated
areas — the Survey calls for a range of mitigation measures including extensive provision of efficient irrigation
technologies and a wholesale review of the cereal-centric approach to policy. Citing job creation and education as
key priorities, the Survey sets out a plan for rapid economic expansion by recommending that policymakers keep

their sights trained on strengthening “the only two truly sustainable engines — private investment and exports.”
Question No. 21

“According to the survey the consolidation targets must be based on optimistic assumptions.”

This statement is

Options:

1. Definitely True
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2. Definitely False
3. Probably True
4. Probably False

5. Cannot be determined
Answer : Definitely False

Direction:
Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been

printed in bold to help you locate them while answering some of the questions.

The Economic Survey for 2017-18 paints the picture of an economy that gives reason for both optimism and caution.
It projects that GDP growth could accelerate to 7-7.5% in 2018-19, from 6.75% in the current fiscal, reinstating India
as the world’s fastest-growing major economy. According to Chief Economic Adviser Arvind Subramanian, the key
factors contributing to the positive prognosis are the reform measures: the July 1implementation of the Goods and
Services Tax and the steps taken to address the twin balance sheet problem in the banking sector. The latter
includes the push to use the Insolvency and Bankruptcy Code for debt resolution and the initiative to recapitalize
public sector banks. Adding to these domestic enablers are the fair winds of a global recovery that have already
lent a lift to overseas demand for India’s goods and services. But capitalizing on these favorable factors while
remaining vigilant to other macroeconomic threats, including a key risk in the form of persistently high oil prices,
would require exemplary economic stewardship. Among the concerns the CEA has flagged is one relating to what
the Survey calls “a classic emerging market ‘sudden stall’ induced by sharp corrections to elevated stock prices.”
With Indian stock indices continuing to soar to new highs on an almost daily basis, the Survey warns against “
sanguineness about its sustainability”. A correction in the stock market, besides triggering capital outflows, could
force policymakers to raise interest rates, choking off the nascent recovery.On the fiscal front, the survey contends
that the Centre needs to reappraise its priorities. Theonus, it argues, has to be squarely placed on establishing and
maintaining policy credibility. To this end, it argues against “setting overly ambitious targets for consolidation,
especially in a pre-election year” that are based on optimistic and unrealistic assumptions. Instead, it recommends a
“modest consolidation” that would signal a return to the path of calibrated deficit reductions. In doing so, it appears
that the Survey is signaling that the government may have to retain the elbow room to stabilize the GST, complete
the recapitalization exercise and, most crucially, support agriculture. Devoting an entire chapter to ‘Climate, Climate
Change and Agriculture’, the CEA and his team have stressed on the dangers climate change poses to the outlook
for farm growth. With the potential to reduce annual agricultural incomes — by as much as 20-25% for unirrigated

areas — the Survey calls for a range of mitigation measures including extensive provision of efficient irrigation
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technologies and a wholesale review of the cereal-centric approach to policy. Citing job creation and education as
key priorities, the Survey sets out a plan for rapid economic expansion by recommending that policymakers keep

their sights trained on strengthening “the only two truly sustainable engines — private investment and exports.”

Question No. 22

What according to the passage, does the survey support?

|. Economic expansion by job creation

IIl. Agricultural reforms

Ill. A balanced tradeoff between new industry setup and environmental gains
Options:

1. Only |
2.Both land I
3.Both Iland Il
4. All three

5.Both I and IlI
Answer : Only |

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.

The Economic Survey for 2017-18 paints the picture of an economy that gives reason for both optimism and caution.
It projects that GDP growth could accelerate to 7-7.5% in 2018-19, from 6.75% in the current fiscal, reinstating India
as the world’s fastest-growing major economy. According to Chief Economic Adviser Arvind Subramanian, the key
factors contributing to the positive prognosis are the reform measures: the July 1implementation of the Goods and
Services Tax and the steps taken to address the twin balance sheet problem in the banking sector. The latter
includes the push to use the Insolvency and Bankruptcy Code for debt resolution and the initiative to recapitalize
public sector banks. Adding to these domestic enablers are the fair winds of a global recovery that have already
lent a lift to overseas demand for India’s goods and services. But capitalizing on these favorable factors while
remaining vigilant to other macroeconomic threats, including a key risk in the form of persistently high oil prices,

would require exemplary economic stewardship. Among the concerns the CEA has flagged is one relating to what
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the Survey calls “a classic emerging market ‘sudden stall’ induced by sharp corrections to elevated stock prices.”
With Indian stock indices continuing to soar to new highs on an almost daily basis, the Survey warns against “
sanguinenessabout its sustainability”. A correction in the stock market, besides triggering capital outflows, could
force policymakers to raise interest rates, choking off the nascent recovery.On the fiscal front, the survey contends
that the Centre needs to reappraise its priorities. Theonus, it argues, has to be squarely placed on establishing and
maintaining policy credibility. To this end, it argues against “setting overly ambitious targets for consolidation,
especially in a pre-election year” that are based on optimistic and unrealistic assumptions. Instead, it recommends a
“modest consolidation” that would signal a return to the path of calibrated deficit reductions. In doing so, it appears
that the Survey is signaling that the government may have to retain the elbow room to stabilize the GST, complete
the recapitalization exercise and, most crucially, support agriculture. Devoting an entire chapter to ‘Climate, Climate
Change and Agriculture’, the CEA and his team have stressed on the dangers climate change poses to the outlook
for farm growth. With the potential to reduce annual agricultural incomes — by as much as 20-25% for unirrigated
areas — the Survey calls for a range of mitigation measures including extensive provision of efficient irrigation
technologies and a wholesale review of the cereal-centric approach to policy. Citing job creation and education as
key priorities, the Survey sets out a plan for rapid economic expansion by recommending that policymakers keep

their sights trained on strengthening “the only two truly sustainable engines — private investment and exports.”
Question No. 23
Choose the word which is most nearly the same in meaning to the word‘onus’ as used in the passage.

Options:

1. occasion
2. weight
3. crucial
4. spot

5. genuineness
Answer : weight

Direction:

Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been
printed in bold to help you locate them while answering some of the questions.
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The Economic Survey for 2017-18 paints the picture of an economy that gives reason for both optimism and caution.
It projects that GDP growth could accelerate to 7-7.5% in 2018-19, from 6.75% in the current fiscal, reinstating India
as the world’s fastest-growing major economy. According to Chief Economic Adviser Arvind Subramanian, the key
factors contributing to the positive prognosis are the reform measures: the July 1implementation of the Goods and
Services Tax and the steps taken to address the twin balance sheet problem in the banking sector. The latter
includes the push to use the Insolvency and Bankruptcy Code for debt resolution and the initiative to recapitalize
public sector banks. Adding to these domestic enablers are the fair winds of a global recovery that have already
lent a lift to overseas demand for India’s goods and services. But capitalizing on these favorable factors while
remaining vigilant to other macroeconomic threats, including a key risk in the form of persistently high oil prices,
would require exemplary economic stewardship. Among the concerns the CEA has flagged is one relating to what
the Survey calls “a classic emerging market ‘sudden stall” induced by sharp corrections to elevated stock prices.”
With Indian stock indices continuing to soar to new highs on an almost daily basis, the Survey warns against “
sanguinenessabout its sustainability”. A correction in the stock market, besides triggering capital outflows, could
force policymakers to raise interest rates, choking off the nascent recovery.On the fiscal front, the survey contends
that the Centre needs to reappraise its priorities. The onus, it argues, has to be squarely placed on establishing and
maintaining policy credibility. To this end, it argues against “setting overly ambitious targets for consolidation,
especially in a pre-election year” that are based on optimistic and unrealistic assumptions. Instead, it recommends a
“modest consolidation” that would signal a return to the path of calibrated deficit reductions. In doing so, it appears
that the Survey is signaling that the government may have to retain the elbow room to stabilize the GST, complete
the recapitalization exercise and, most crucially, support agriculture. Devoting an entire chapter to ‘Climate, Climate
Change and Agriculture’, the CEA and his team have stressed on the dangers climate change poses to the outlook
for farm growth. With the potential to reduce annual agricultural incomes — by as much as 20-25% for unirrigated
areas — the Survey calls for a range of mitigation measures including extensive provision of efficient irrigation
technologies and a wholesale review of the cereal-centric approach to policy. Citing job creation and education as
key priorities, the Survey sets out a plan for rapid economic expansion by recommending that policymakers keep

their sights trained on strengthening “the only two truly sustainable engines — private investment and exports.”

Question No. 24
Choose the word which is most nearly the same in meaning to the word‘prognosis’ as used in the passage.

Options:
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1. result

2. projection
3.idea

4. behavior

5. flow
Answer : projection

Direction:
Read the following passage car efully and answer the questions given below them. Certain wor ds/phrases have been

printed in bold to help you locate them while answering some of the questions.

The Economic Survey for 2017-18 paints the picture of an economy that gives reason for both optimism and caution.
It projects that GDP growth could accelerate to 7-7.5% in 2018-19, from 6.75% in the current fiscal, reinstating India
as the world’s fastest-growing major economy. According to Chief Economic Adviser Arvind Subramanian, the key
factors contributing to the positive prognosis are the reform measures: the July 1implementation of the Goods and
Services Tax and the steps taken to address the twin balance sheet problem in the banking sector. The latter
includes the push to use the Insolvency and Bankruptcy Code for debt resolution and the initiative to recapitalize
public sector banks. Adding to these domestic enablers are the fair winds of a global recovery that have already
lent a lift to overseas demand for India’s goods and services. But capitalizing on these favorable factors while
remaining vigilant to other macroeconomic threats, including a key risk in the form of persistently high oil prices,
would require exemplary economic stewardship. Among the concerns the CEA has flagged is one relating to what
the Survey calls “a classic emerging market ‘sudden stall” induced by sharp corrections to elevated stock prices.”
With Indian stock indices continuing to soar to new highs on an almost daily basis, the Survey warns against “
sanguinenessabout its sustainability”. A correction in the stock market, besides triggering capital outflows, could
force policymakers to raise interest rates, choking off the nascent recovery.On the fiscal front, the survey contends
that the Centre needs to reappraise its priorities. The onus, it argues, has to be squarely placed on establishing and
maintaining policy credibility. To this end, it argues against “setting overly ambitious targets for consolidation,
especially in a pre-election year” that are based on optimistic and unrealistic assumptions. Instead, it recommends a
“modest consolidation” that would signal a return to the path of calibrated deficit reductions. In doing so, it appears
that the Survey is signaling that the government may have to retain the elbow room to stabilize the GST, complete
the recapitalization exercise and, most crucially, support agriculture. Devoting an entire chapter to ‘Climate, Climate
Change and Agriculture’, the CEA and his team have stressed on the dangers climate change poses to the outlook

for farm growth. With the potential to reduce annual agricultural incomes — by as much as 20-25% for unirrigated
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areas — the Survey calls for a range of mitigation measures including extensive provision of efficient irrigation
technologies and a wholesale review of the cereal-centric approach to policy. Citing job creation and education as
key priorities, the Survey sets out a plan for rapid economic expansion by recommending that policymakers keep

their sights trained on strengthening “the only two truly sustainable engines — private investment and exports.”

Question No. 25

Choose the word which is most nearly the opposite in meaning to the word*sanguineness’ as used in the passage.
Options:

1. optimistic
2. genuine

3. pessimistic
4. real

5. fake
Answer : pessimistic

Direction:

In each of the following questions four words ar e given, of which two words are most nearly the same or oppositein
meaning. Find the two words which are most nearly the same or opposite in meaning and indicate the number of
the correct letter combination.

Question No. 26
A) Torment B) Help C) Lament D) Regret
Options:

1. A-B
2.B-C
3.C-D
4.A-C

5.A-D
Answer : C-D

Direction:
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In each of the following questions four words ar e given, of which two words are most nearly the same or oppositein

meaning. Find the two wor ds which are most nearly the same or opposite in meaning and indicate the number of
the correct letter combination.

e Question No. 27

A) Goodness B) Practical C) Unethical D) Moral
Options:

1 A-B
2.B-C
3.C-D
4. A-C

5.A-D
Answer : C-D

Direction:

I'n each of the following questions four words are given, of which two wor ds are most nearly the same or oppositein

meaning. Find the two wor ds which are most nearly the same or opposite in meaning and indicate the number of
the correct letter combination.

e Question No. 28

A) Subdue  B) Loose C)Stimulate D) Careless
Options:

1. A-B
2.B-C
3.C-D
4. A-C

5.A-D
Answer : A-C

Direction:

In each of the following questions four words are given, of which two words are most nearly the same or oppositein

meaning. Find the two wor dswhich are most nearly the same or opposite in meaning and indicate the number of
the correct letter combination.
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e Question No. 29

A) Tantamount B) Natural C) Serious D) Equal
Options:

1. A-B
2.B-C
3.C-D
4.A-C

5.A-D
Answer : A-D

Direction:

In each of the following questions four words are given, of which two words are most nearly the same or oppositein

meaning. Find the two wor ds which are most nearly the same or opposite in meaning and indicate the number of
the correct letter combination.

e Question No. 30
A) Certain B) Velocity  C) Slowness D) Settled
Options:

1. A-B
2.B-C
3.C-D
4.A-C

5.A-D
Answer : B-C

Direction:
Study thefollowing information and answer the given questions.

e Question No. 31

If X is the grandson of Y, then how is X is related to D?
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Options:

1.Son

2. Grandson

3. Brother-in-law
4. Son-in-law

5. Nephew
Answer : Son

Direction:
Study the following information and answer the given questions.

Question No. 32
How is T related to Z?
Options:

1. Daughter-in-law
2. Aunt

3. Niece

4. Daughter

5. Sister-in-law

Answer : Daughter-in-law

Question No. 33

A man starts walking from point O reaches 5m east at point A. Then he turns to his right and walks 7m to reach
point B. Again he turns to his left and walks 4m to reach point C. Again he turns left and walks 14m to reach point D.

Finally, he turns to his left and walks 9m to reach point E. In which direction is point E from the starting point?
Options:

1. Southeast

2. South
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3. North
4. West

5. None of these

Answer : North

Question No. 34

How many such pairs of letters are there in the words ‘COMPLIMENTS’ each of which has as many letters between
them in words (both in backward and forward direction) as they have between them in the English alphabetical

series?
Options:

1. None
2.0ne
3.Two
4. Three

5. More than three

Answer : More than three

Question No. 35

. Each of the vowel in the word REQUIRE is changed to the next letter in the English alphabetical series and each
consonant is changed to the previous letter in the English alphabetical series. If the letters of the new word thus
formed are arranged in alphabetical order from left to right, which of the following alphabets will appear exactly in

the middle?
Options:

1P
2.V
3.F
4.Q

5. None of these
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Answer: P

Direction:
(Q.86 —90): Study thefollowing arrangement carefully and answer the questions given below:

e Question No. 36

If all the symbols are dropped from the arrangement then which of the following will be seventeenth from the right

end of the given arrangement?
Options:

1T
2.4
3.Z
4.6

5.2
Answer: 4

Direction:
(Q.86 —90): Study the following arrangement car efully and answer the questions given below:

e Question No. 37

How many such symbols are there in the given arrangement, each of which is immediately followed by a letter and

also immediately preceded by a number?
Options:

1. One
2.None
3. Two
4. Three

5. More than three
Answer : One

Direction:
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(Q.86 —90): Study thefollowing arrangement carefully and answer the questions given below:

e Question No. 38
Which of the following is seventh to the left of the eleventh element from the left end of the given arrangement?
Options:

1.7
2 #
3.1
4.C

5.*
Answer : C

Direction:
(Q.86 —90): Study the following arrangement car efully and answer the questions given below:

e Question No. 39
What should come in place of question mark (?) in the given following series based on the given arrangement?
E7C 347 S61 ?8Q ?
Options:

1.29&
2.91G
3.8G9
4.5&2

5. DE%
Answer : &amp;G9

Direction:
(Q.86 —90): Study thefollowing arrangement car efully and answer the questions given below:

e Question No. 40
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How many such letters are there in the given arrangement, each of which is immediately followed by a symbol and

also immediately preceded by a number?
Options:

1. One
2.None
3. Two
4.Three

5. More than three
Answer : One

Direction:
Each of the following questions below consists of a question and two statements numbered | and Il given below it.
You have to decide whether the data provided in the statements are sufficient to answer the question. Read both

the statements and give the answer.

Question No. 41

Among A, B, C, D and E, which is the smallest?

I. D is greater or equal to E. B is equal to C, which is greater than D.

II. E is smaller than A, which is smaller than B. C is equal to D and smaller than A.
Options:

1. If the data in statement | alone are sufficient to answer the question, while the data in statement Il alone
are not sufficient in answer the question.

2. If the data in statement Il alone are sufficient to answer the question, while the data in statement | alone
are not sufficient to answer the question.

3.If the data in either in statement | alone or in statement Il alone are sufficient to answer the question.

4. If the data in both the statements | and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il are together necessary to answer the question.

Answer : If the data in both the statements | and Il together are not sufficient to answer the question.
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Direction:
Each of the following questions below consists of a question and two statements numbered | and Il given below it.
You have to decide whether the data provided in the statements are sufficient to answer the question. Read both

the statements and give the answer.

Question No. 42

How is ‘dog’ coded in a code language?

. ‘loyal and intelligent dog’ is coded as ‘la po hi do’
Il. ‘dog is running fast’ is coded as ‘po ro no ji’
Options:

1. If the data in statement | alone are sufficient to answer the question, while the data in statement Il alone
are not sufficient in answer the question.

2. If the data in statement Il alone are sufficient to answer the question, while the data in statement | alone
are not sufficient to answer the question.

3.If the data in either in statement | alone or in statement Il alone are sufficient to answer the question.

4. If the data in both the statements | and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il are together necessary to answer the question.
Answer : If the data in both the statements | and Il are together necessary to answer the question.

Direction:

Each of the following questions below consists of a question and two statements numbered | and Il given below it.
You have to decide whether the data provided in the statements are sufficient to answer the question. Read both
the statements and give the answer.

Question No. 43

How many sons does S have?

I. U is mother of S’s son Q, who has two sisters F and E.
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IIl. There are six family members - two males and four females — U’s family. U is wife of S.
Options:

1. If the data in statement | alone are sufficient to answer the question, while the data in statement Il alone
are not sufficient in answer the question.

2. If the data in statement Il alone are sufficient to answer the question, while the data in statement | alone
are not sufficient to answer the question.

3. If the data in either in statement | alone or in statement Il alone are sufficient to answer the question.

4. If the data in both the statements | and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il are together necessary to answer the question.
Answer : If the data in both the statements | and Il are together necessary to answer the question.

Direction:
Each of the following questions below consists of a question and two statements numbered | and Il given below it.
You have to decide whether the data provided in the statements are sufficient to answer the question. Read both

the statements and give the answer.

Question No. 44

In which direction is point B with respect to point C?

|. Fis to the east of C, which is to the east of E. D is to the north of E and B is to the east of D.

I1.B is to the west of D, which is to the south of F. E and F are to the east and to the west of C respectively.
Options:

1. If the data in statement | alone are sufficient to answer the question, while the data in statement Il alone
are not sufficient in answer the question.

2. If the data in statement Il alone are sufficient to answer the question, while the data in statement | alone
are not sufficient to answer the question.

3. If the data in either in statement | alone or in statement |l alone are sufficient to answer the question.

4. If the data in both the statements | and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il are together necessary to answer the question.
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Answer : If the data in statement Il alone are sufficient to answer the question, while the data in statement | alone

are not sufficient to answer the question.

Direction:

Each of the following questions below consists of a question and two statements numbered | and Il given below it.
You have to decide whether the data provided in the statements are sufficient to answer the question. Read both
the statements and give the answer.

Question No. 45

How is R related to O?

I. O is wife of E. O and K are the only children of T. | is the only daughter of E. R is the grand-daughter of T.

II. I'is married to N. O is the mother-in-law of N. O is the only daughter of T and C. R is the grand child of T.

Options:

1. If the data in statement | alone are sufficient to answer the question, while the data in statement Il alone
are not sufficient in answer the question.

2. If the data in statement Il alone are sufficient to answer the question, while the data in statement | alone
are not sufficient to answer the question.

3.If the data in either in statement | alone or in statement Il alone are sufficient to answer the question.

4. If the data in both the statements | and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il are together necessary to answer the question.

Answer : If the data in statement | alone are sufficient to answer the question, while the data in statement Il alone

are not sufficient in answer the question.

Direction:

Study the following information to answer the given questions:
Question No. 46

How many persons are facing towards southward direction?

Options:



1. Two
2. Three
3. Four
4. Five

5. None of these

Answer : Four

Direction:

Study the following information to answer the given questions:

Question No. 47

What is the position of Ramos with respect to Pogba?

Options:

1. Immediate left

2. Immediate right

3. Second to the left
4. Second to the right

5. None of these

Answer : Immediate right

Direction:

Study the following information to answer the given questions:

Question No. 48

Who among the following is sitting exactly between Lucas and Ramos?

Options:

1. 1sco
2. Mata

3. Mendy

ixam

0(6
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4. Neymar

5. Pogba
Answer : Neymar
Direction:
Study the following information to answer the given questions:
Question No. 49

Four of the five are alike in a certain way and so form a group. Which of the following does not belong to that

group?
Options:

1. Lucas, Isco

2. Isco, Mata

3. Neymar, Mendy
4. Pogba, Pepe

5. Pepe, Ramos
Answer : Pepe, Ramos
Direction:
Study the following information to answer the given questions:
Question No. 50
Who is to the second to the left of Neymar?
Options:

1. Mata

2. Pogba
3. Mendy
4. Ramos

5. None of these
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Answer : Mata

Direction:
(Q. 22 - 26): Each of the questions below consists of a question and three statements numbered |, Il and Ill given
below it. You have to decide whether the data provided in the statements are sufficient to answer the question.

Read all the three statements and

Give answer

Question No. 51

There are seven letters M, N, E, I, A, C, H in a word. Is ‘MACHINE’ the word formed after performing the following

operations using these seven letters only?

I. A'is placed third to the left of | but not at any end and N is the immediate neighbor of I. E is not at the left end

while M is not at the right end.
IIl. His placed at the center as a neighbor of | while E is not at the left end.

Ill. Cis placed third to the left of N while | is placed third to the right of A. None of these four letters is at any of the

ends.
Options:

1.1)

2.2)
3.3)
4.4)

5.5)
Answer : 4)

Direction:
(Q. 22 - 26): Each of the questions below consists of a question and three statements numbered |, Il and Ill given
below it. You have to decide whether the data provided in the statements are sufficient to answer the question.

Read all the three statements and

Give answer
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e Question No. 52
Out of the eight friends A, B, C, D, E, F, G and H sitting around a circular table. Is A facing towards the centre?

I. F is immediate neighbor of E but not the neighbor of A. E is not an immediate neighbor of D or C. Three of them

are facing the centre.

IIl. The only one who is sitting in between D and F, is not facing the centre. G is third to the right of A and is facing

the centre. Cis third to the left of D and both are facing the centre. B is the neighbour of F.
Il F is an immediate neighbor of B and facing outside.
Options:

1.1)

2.2)
3.3)
4.4)

5.5)
Answer : 1)

Direction:
(Q. 22 - 26): Each of the questions below consists of a question and three statements numbered |, Il and Ill given
below it. You have to decide whether the data provided in the statements are sufficient to answer the question.

Read all the three statements and

Give answer

e Question No. 53
Point B is in which direction with respect to point E?

l. Point A is to the north of point D. Point B is to the south of point C. Point E is to the East of point D. Point Cis to

the south of point A.
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IIl. Point C is to the south of A. Point E is to the south of point D. Point A is to the west of point D. Point B is exactly

in the middle of points A and D.

Ill. Point A is to the west of point D. Point E is to the south of point A. Point C is 9 meter to the South of point D.

Point B is to the North west of point C.
Options:

1.1)

2.2)
3.3)
4.4)

5.5)
Answer : 4)

Direction:
Each of the questions below consists of a question and three statements numbered |, Il and Ill given below it. You
have to decide whether the data provided in the statements are sufficient to answer the question. Read all the

three statements and

Give answer

Question No. 54

In a certain code language, ‘made my work good’ is written as ‘ta la sa pa’. How is ‘good’ written in the code

language?

. “his work is good’ is written as ‘pa za la ma’".

II. job made his notice” is written as ‘sa fa ma na’. ‘management good work’ is written as ‘pa ja la".
Ill. ‘management made good work’ is written as ‘pa ja sa la".

Options:

1.1)

2.2)
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3.3)
4. 4)

5.5)
Answer : 5)

Direction:
(Q. 22 - 26): Each of the questions below consists of a question and three statements numbered |, Il and Ill given
below it. You have to decide whether the data provided in the statements are sufficient to answer the question.

Read all the three statements and

Give answer

e Question No. 55

All girls and boys of a class are standing in a row. What is the position of Siddharth among boys from the front of

the row?

I. Johnis 13th from the front. Snow who is two positions ahead (when counted from front) of Jon is 16th from

behind.
Il. Mormont who is eighteenth from the front is standing four places away from Siddharth.

Il. Siddharth is two positions behind Tim whose position is equal to the average of both Jon’s and Snow’s position

from the front.
Options:

1.1)

2.2)
3.3)
4.4)

5.5)
Answer : 1)

Direction:
Study the following information carefully and answer the following questions given below:
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Ten personsP,Q,R, S, T,U, V, W, X and Y like different deodorants, viz. Engage, Nike, Adidas, Axe and Dove,
Wattagirl, Rexona, Avon, Fa and Layer shot. All of them eat a different fast foods, viz. Pizza, Momos, Macroni, Dosa,

Sambhar, Paneer, Tikki, Sandwich, Dokhla and Burger but not necessarily in the same order.
() The one who likes Layer shot eats Burger.
(i) X does not like Nike or Layer shot.

(iii) S likes Axe and eats Momos.

(iv) U eats Dosa and likes Wattagirl.

(V) W eats Sandwich.

(vi) The one who eats Pizza likes Adidas.
(vii) P eats Paneer and X eats Dokhla.

(viii) V likes Rexona.

(ix) Neither P nor Q likes Fa.

(x) P does not like Engage.

(xi) R likes Adidas and W likes Avon.

(xii) T likes Dove and eats Macroni.

(xiii) Q eats Sambhar.

Question No. 56
Who among the following eats Burger?
Options:

1.X
2.Y
.U

4.V
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5. None of these
Answer:Y

Direction:
Study thefollowing information car efully and answer the following questions given below:

Tenpersons P, Q,R, S, T, U, V, W, X and Y like different deodorants, viz. Engage, Nike, Adidas, Axe and Dove,
Wattagirl, Rexona, Avon, Fa and Layer shot. All of them eat a different fast foods, viz. Pizza, Momos, Macroni, Dosa,

Sambhar, Paneer, Tikki, Sandwich, Dokhla and Burger but not necessarily in the same order.
(i) The one who likes Layer shot eats Burger.
(ii) X does not like Nike or Layer shot.

(iii) S likes Axe and eats Momos.

(iv) U eats Dosa and likes Wattagirl.

(v) W eats Sandwich.

(vi) The one who eats Pizza likes Adidas.
(vii) P eats Paneer and X eats Dokhla.

(viii) V likes Rexona.

(ix) Neither P nor Q likes Fa.

(x) P does not like Engage.

(xi) R likes Adidas and W likes Avon.

(xii) T likes Dove and eats Macroni.

(xiii) Q eats Sambhar.

Question No. 57

Which of the following combination is true?
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Options:

1. P — Nike Pizza

2.S - Avon - Momos
3. U - Wattagirl - Dosa
4. X - Adidas - Pizza

5. None of these
Answer : U — Wattagirl - Dosa

Direction:
Study the following information car efully and answer the following questions given below:

TenpersonsP,Q,R, S, T, U, V, W, X and Y like different deodorants, viz. Engage, Nike, Adidas, Axe and Dove,
Wattagirl, Rexona, Avon, Fa and Layer shot. All of them eat a different fast foods, viz. Pizza, Momos, Macroni, Dosa,

Sambhar, Paneer, Tikki, Sandwich, Dokhla and Burger but not necessarily in the same order.
() The one who likes Layer shot eats Burger.
(i) X does not like Nike or Layer shot.

(iii) S likes Axe and eats Momos.

(iv) U eats Dosa and likes Wattagirl.

(v) W eats Sandwich.

(vi) The one who eats Pizza likes Adidas.
(vii) P eats Paneer and X eats Dokhla.

(viii) V likes Rexona.

(ix) Neither P nor Q likes Fa.

(x) P does not like Engage.

(xi) R likes Adidas and W likes Avon.

(xii) T likes Dove and eats Macroni.
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(xiii) Q eats Sambhar.

e Question No. 58
R eats which of the following food?
Options:

1. Pizza
2. Tikki
3. Momos
4. Dosa

5. None of these
Answer : Pizza

Direction:
Study thefollowing information car efully and answer the following questions given below:

Tenpersons P, Q,R, S, T, U, V, W, X and Y like different deodorants, viz. Engage, Nike, Adidas, Axe and Dove,
Wattagirl, Rexona, Avon, Fa and Layer shot. All of them eat a different fast foods, viz. Pizza, Momos, Macroni, Dosa,

Sambhar, Paneer, Tikki, Sandwich, Dokhla and Burger but not necessarily in the same order.
(i) The one who likes Layer shot eats Burger.

(i) X does not like Nike or Layer shot.

(i) S likes Axe and eats Momos.

(iv) U eats Dosa and likes Wattagirl.

(v) W eats Sandwich.

(vi) The one who eats Pizza likes Adidas.

(vii) P eats Paneer and X eats Dokhla.

(viii) V likes Rexona.

(ix) Neither P nor Q likes Fa.
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(x) P does not like Engage.
(xi) R likes Adidas and W likes Avon.
(xii) T likes Dove and eats Macroni.

(xiii) Q eats Sambhar.

Question No. 59
Who among the following likes Layershot?
Options:

1. X
2.Y

3.R

4.Q

5. None of these
Answer:Y

Direction:
Study the following information carefully and answer the following questions given below:

Ten personsP,Q,R, S, T,U, V, W, Xand Y like different deodorants, viz. Engage, Nike, Adidas, Axe and Dove,
Wattagirl, Rexona, Avon, Fa and Layer shot. All of them eat a different fast foods, viz. Pizza, Momos, Macroni, Dosa,

Sambhar, Paneer, Tikki, Sandwich, Dokhla and Burger but not necessarily in the same order.
() The one who likes Layer shot eats Burger.

(i) X does not like Nike or Layer shot.

(i) S likes Axe and eats Momos.

(iv) U eats Dosa and likes Wattagirl.

(v) W eats Sandwich.

(vi) The one who eats Pizza likes Adidas.



(vii) P eats Paneer and X eats Dokhla.

(viii) V likes Rexona.

(ix) Neither P nor Q likes Fa.

(x) P does not like Engage.

(xi) R likes Adidas and W likes Avon.

(xii) T likes Dove and eats Macroni.

(xiii) Q eats Sambhar.

Question No. 60

Which of the following combinations with regard to P is true?

Options:

1. Avon - Momos

2. Engage - Sambhar
3. Nike - Paneer

4. Dove - Macroni

5. None of these

Answer : Nike - Paneer

Direction:

Study the following information carefully and answer the given questions:

Question No. 61

In the given code language what does the code ‘kt ‘ stand for?

Options:

1. centre

2.such
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3.in
4. can't be determined

5. None of these

Answer : such

Direction:

Study the following information carefully and answer the given questions:

Question No. 62

What is the code for ‘table’ in the given code language?

Options:

4. either1or2

5. None of these

Answer : either 1or 2

Direction:

Study the following information carefully and answer the given questions:

Question No. 63

What is the code for ‘are’ in the given code language?

Options:

1. ku
2. pa
3.zu
4.na

5. None of these
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Answer : zu

Direction:

Study the following information carefully and answer the given questions:

Question No. 64

‘In zu ku sa’ is the code for which of the following?

Options:

1. sitting people are table

2. people rectangular are table
3. way facing in such

4. can't be determined

5. None of these

Answer : people rectangular are table

Direction:

Study the following information carefully and answer the given questions:

Question No. 65

What is the code for ‘rectangular’ in the given code language?

Options:

11n
2.s5a
3. ku
4. either1or?2

5. None of these

Answer : either1or 2

Direction:
What should comein place of the question mark (?) in the following number series?
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e Question No. 66

26 63 124 215 342 51 ?
Options:
1.610
2.728
3.712
4. 613
5.715
Answer : 728
Direction:

What should comein place of the question mark (?) in the following number series?

e Question No. 67

840 400 180 ? 15 -12.5
Options:
1.12
2.15
3.70
4.80
5.90
Answer : 70
Direction:

What should comein place of the question mark (?) in the following number series?

e Question No. 68

8 9 22 75 316 ?
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Options:

1.1600
2.1602
3.1603
4.1605

5. None of these
Answer : 1605

Direction:
Directions (141-145): What should come in place of the question mark (?) in the following number series?

e Question No. 69
3 5 15 75 125 ?
Options:

1. 84357
2.84375
3.84735
4.83745

5. None of these
Answer : 84375

Direction:

What will comein place of question marks*?" in the following questions? (Y ou do not haveto calculate the exact
value?

e Question No. 70
age not found or type unknown
15.001% of 799.99- /I 3/11% of 1099.99 + 111.002 = ?

Options:

1.228



2.256
3.265
4.278

5.290
Answer : 228
Direction:
What value should come in place of the question-mark(?) in the following questions:
e Question No. 71
[(15)% x (8)?] + (90 x 6) = ?2
Options:

1.35

2.20
3.32
4.28

5. None of these
Answer : 20
Direction:
What value should come in place of the question-mark(?) in the following questions:
e Question No. 72
0857375 + 01125 = ? + /6889
Options:

1.87
2.62
3.57

4.92

ixam

0(6



5. None of these

Answer : 57

Direction:

What value should come in place of the question-mark(?) in the following questions:

Question No. 73

150% of 850 + 25 - 25 = ?% of (39312 + 1512)

Options:

1.100
2.92

3.14
4.96

5. None of these

Answer : 100

Direction:

What value should come in place of the question-mark(?) in the following questions:

Question No. 74

192.251 + 326.233 + 125.021 + 19.273 = ?

Options:

1.956.798
2.824.678
3.672.188
4.662.778

5. None of these

Answer : 662.778

Direction:
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What value should come in place of the question-mark(?) in the following questions:

e Question No.75
67 x 67" /2= (67)0
Options:

1.(67)0
2.(67)0
3.(67)°

4.(67)0

5. None of these
Answer : (67)0

Direction:
What value should comein place of the question-mark(?) in the following questions:

e Question No. 76
82 x3450+30+824=7-920
Options:

1.23890
2.13256
3.12168
4.1M74

5. None of these
Answer : 11174

Direction:
What value should comein place of the question-mark(?) in the following questions:

e Question No. 77
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V(?) 2=/7396 - /6889
Options:

1.3
2.9
3.81
4.27

5. None of these
Answer: 3

Direction:
What value should comein place of the question-mark(?) in the following questions:

Question No. 78
4/5+6/7 x14/42 +24/35="7
Options:

1.1%17/55
2.1*19/32
3.1*13/60
4.1*11/45

5. None of these
Answer : 1*13/60

Direction:
What value should comein place of the question-mark(?) in the following questions:

Question No. 79
(50/7)% of 3500 + (20/3)% of 6000 = ? + 552.5
Options:

1.914

ixam

0(6



0D
ixam Pees @

2.829
3.975
4.684

5. None of these
Answer : 97.5

Direction:
What value should comein place of the question-mark(?) in the following questions:

Question No. 80
(43)? - (28)% + (32)? = ?% of 2500
Options:

1.83.56
2.5898
3.72.45
4.91.66

5. None of these
Answer : 83.56

Direction:
In each of the following questions, read the following questions, read the given statements and compare given two
quantities on its basis:

Question No. 81

10 women and 12 men complete a certain piece of work in 30 days, if each women takes thrice the time taken by a

man to finish the work.
Quantity | —How many days will 17 men and 33 women can take to finish the same work?
Quantity Il - How many days will 26 men and 12 women can take to finish the same work?

Options:
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1. Quantity | > Quantity Il
2. Quantity | < Quantity Il
3. Quantity | = Quantity Il
4. Quantity | = Quantity Il

5. Quantity | = Quantity Il
Answer : Quantity | &gt; Quantity Il
Direction:
In each of the following questions, read the following questions, read the given statements and compare given two
quantities on its basis:
e Question No. 82
Quantity | —49x3'y3
Quantity Il —25x4y4
If x>0andy<0
Options:

1. Quantity | > Quantity Il
2. Quantity | < Quantity Il
3. Quantity | = Quantity Il
4. Quantity | = Quantity Il

5. Quantity | = Quantity Il
Answer : Quantity | &It; Quantity Il
Direction:
Study the following information carefully and answer the Questions given below:
¢ Question No. 83

Quantity I. The perimeter of a triangle whose sides are 17 cm, 13 cm and 23 cm.
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Quantity Il. The perimeter of a square whose diagonal is 19 cm.
Options:

1. Quantity | > Quantity I
2. Quantity | = Quantity Il
3. Quantity | < Quantity Il
4. Quantity | = Quantity Il

5. Quantity | = Quantity Il or No relation can be established
Answer : Quantity | &It; Quantity Il
Direction:
Study the following information carefully and answer the Questions given below:
Question No. 84
What is the rate percent per annum?
Quantity I. Sum of money becomes four times in five years at simple interest.

Quantity Il. The difference between compound interest and simple interest on a sum of Rs. 15,000 at the end of two

years is Rs. 9,600.
Options:

1. Quantity | = Quantity Il
2. Quantity | < Quantity Il
3. Quantity | = Quantity Il
4. Quantity | > Quantity I

5. Quantity | = Quantity Il or No relation can be established
Answer : Quantity | &It; Quantity Il

Direction:

Study the following information carefully and answer the Questions given below:



0D
ixam Pees @

e Question No. 85
Quantity |. The volume of a cube whose surface area is 216 cm?
Quantity Il. The volume of a cuboid whose sides are 8 cm, 9 cm and 13 cm.
Options:

1. Quantity | < Quantity Il
2. Quantity | > Quantity Il
3. Quantity | = Quantity Il
4. Quantity | = Quantity Il

5. Quantity | = Quantity Il or No relation can be established
Answer : Quantity | &It; Quantity Il
Direction:
In each of the following questions, a question is followed by two statement. Read all the statements and find that
which statements are required to answer the question and answer accordingly.
e Question No. 86
What is the speed of man in still water?
Statement | : The speed of man in still water is twice the speed of the stream.
Statement |1 : In 30 minutes, the man can swim thrice as far with the stream as he can against the stream.
Options:

1. If the data in statement | alone is sufficient to answer the question.

2. If the data in statement Il alone is sufficient to answer the question.

3. If the data either in statement | alone or statement Il alone are sufficient to answer the question.
4. If the data given in both I and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il together are necessary to answer the question.
Answer : If the data given in both I and Il together are not sufficient to answer the question.

Direction:
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In each of the following questions, a question is followed by two statement. Read all the statements and find that
which statements are required to answer the question and answer accordingly.

Question No. 87

What was the profit earned by selling an article?

Statement | : The article was sold for Rs 850 after getting a discount of 15% on the labelled price.

Statement |1 : A profit of 4% is made on the labelled price in buying that article.

Options:

1. If the data in statement | alone is sufficient to answer the question.

2. If the data in statement Il alone is sufficient to answer the question.

3.If the data either in statement | alone or statement Il alone are sufficient to answer the question.
4. If the data given in both | and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il together are necessary to answer the question.
Answer : If the data in both the statements | and Il together are necessary to answer the question.

Direction:

In each of the following questions, a question is followed by two statement. Read all the statements and find that

which statements are required to answer the question and answer accordingly.

Question No. 88

A man invested a sum of Rs 25,000. He invested some part at 5 % p.a. and remaining at 5.5% p.a. How much money

did he invest at 5 % p.a.?

Statement |: The total interest amount paid after 1year was Rs 1300
Statement 11: The interest on one sum was twice that on the other.
Options:

1. If the data in statement | alone is sufficient to answer the question.

2. If the data in statement Il alone is sufficient to answer the question.
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3.If the data either in statement | alone or statement Il alone are sufficient to answer the question.
4. If the data given in both | and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il together are necessary to answer the question.
Answer : If the data either in statement | alone or statement Il alone are sufficient to answer the question.

Direction:
In each of the following questions, a question is followed by two statement. Read all the statements and find that
which statements are required to answer the question and answer accordingly.

Question No. 89

There are 7 people in a group. Average age of the group decreases by 5 when two more people join the group. Find

the average age of the new group.

Statement |: Sum of the ages of the two people who joined later is 25 yrs.
Statement |1: Total of the ages of people originally was 245 yrs.

Options:

1. If the data in statement | alone is sufficient to answer the question.

2. If the data in statement Il alone is sufficient to answer the question.

3. If the data either in statement | alone or statement Il alone are sufficient to answer the question.
4. If the data given in both I and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il together are necessary to answer the question.
Answer : If the data either in statement | alone or statement Il alone are sufficient to answer the question.

Direction:
In each of the following questions, a question is followed by two statement. Read all the statements and find that

which statements are required to answer the question and answer accordingly.

Question No. 90

What is the area of the circular field?
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Statement |: The area of the largest square that can be inscribed in the given circular field is 6400 sq. cm.

Statement |1 : The area of the smallest square in which the given circular field can be inscribed is 4900 sq. cm.
Options:
1. If the data in statement | alone is sufficient to answer the question.

2. If the data in statement Il alone is sufficient to answer the question.

3. If the data either in statement | alone or statement Il alone are sufficient to answer the question.
4. If the data given in both I and Il together are not sufficient to answer the question.

5. If the data in both the statements | and Il together are necessary to answer the question.

Answer : If the data either in statement | alone or statement Il alone are sufficient to answer the question.

Direction:

Refer to the pie chart and answer the given questions.

e Question No. 91
What is the average number of books distributed to shopkeepers Q, R and T?
Options:

1.134
2.1314
3.124
4.142

5.1424
Answer : 1134

Direction:

Refer to the pie chart and answer the given questions.

e Question No. 92

What is the central angle corresponding to the number of the books distributed to shopkeeper S?
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Options:

1.76.40

2.68.410
3.64.810
4.7460

5. None of these
Answer : 64.810
Direction:

Refer to the pie chart and answer the given questions.

e Question No. 93

What is the difference between the total number of books distributed to shopkeepers Q and R together and that

distributed to shopkeepers P and T together?
Options:

1.354
2.364
3.344
4.324

5.342
Answer: 324
Direction:

Refer to the pie chart and answer the given questions.

e Question No. 94

In October 2017, if the number of books in the publications house increased by 15% over the previous month and

the additional number of books distributed to shopkeepers P and S together then find out total numbers of books

distributed to P and S together ?
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Options:

1.2680
2.2808
3.1680
4.2480

5.2088
Answer : 2808

Direction:

Refer to the pie chart and answer the given questions.

e Question No. 95

In October 2017, if the number of books distributed to shopkeeper R is increased by 25% and that to shopkeeper T

decreased by 20% over the previous month then find the total number of books distributed by R and T together in

October 2017?
Options:

1.2025
2.2205
3.2225
4.2250

5.2500

Answer : 2025

e Question No. 96

A product costs a company Rs 120 to manufacture and it sold the product to a dealer for Rs 140, who is turn sold it

to a shopkeeper for Rs 170, who sold to a customer for Rs 204. What is the percentage for the dealers and who

made the highest profit on selling the product?

Options:



0D
ixam Pees @

1.16 2/3% dealer

2.16 2/3% company
3.213/7% dealer
4.213/7% shopkeeper

5. None of these

Answer : 21 3/7% dealer

Question No. 97

A train covers a distance between stations Dehradun to Rudrapur in 90minutes. If the speed is reduced by 10 km/hr,
it will cover the same distance in 96 minutes. What is the distance between the two stations (in km)? Also find the

speed of train?
Options:

1. 120km/hr, 240km
2.150km/hr, 200km
3.160 km/hr, 240 km
4.100km/hr, 220km

5. None of these

Answer : 160 km/hr, 240 km

Question No. 98

Rs 2000 are invested at 5% per annum simple interest. If the interest is added to the principal after every 15 years,

the amount will become Rs 4,000 after
Options:

1. 20years
2.16(2/3)years
3. 25years
4.17(6/7)years

5.12(1/2)years
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— Prepare 50% Faster

Answer : 17(6/7)years

e Question No. 99

A is twice efficient as B and B can do a piece of work in 40 days. B started the work and after a few days A joined

him. They completed the work in 32 days. From the starting, for how many days they worked together?
Options:

1. 6 days
2.8 days
3.4 days
4.10 days

5.12 days

Answer : 4 days

e Question No. 100

A rectangular lawn is 60 meters X 50 meters and has two roads, each 2 meters wide, in the middle of it, one parallel
to its length and the other parallel to its breadth, Find the cost of gravelling the road at the rate of Rs. 3.5 per

square meter.
Options:

1. Rs. 550
2.Rs. 820
3.Rs. 706
4.Rs. 756

5. None of these

Answer : Rs. 756
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